3 (Sem-6) ECO M 1

2018

ECONOMICS
( Major )

Paper : 6.1

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the guestions

Answer either in English or in Assamese

1. Answer the following questions : | 1x7=7

OeTe Al 2R T fod

(a) What is incremental budget?

I4F 0 7

(b) Give an example of neutral tax.

fA9CePs $99 9o Svrad A |

(c) Write the meaning of canon of equity as a
P characteristic of good tax system.

Tey o9 qEER @R fRone e Aifes wyf
fer<r |
(d) State one objective of fiscal policy.
PR NoT o1 Trwed SaEd 3991 |
8A/846 ( Turn Over )




:
:

( 2)

(e) Write the meaning of federal finance,
Teiy Req e ford |

()  What is relative taxable capacity?
AR 9 o el 7

(@) Write one limitation of federal finance
system in India.

SO YeAg [Re 7w OO Furaer e |
2. Answer the following questioﬁs : 2%x4=8
OIS Tl PRy Teq oy
(@) What do you mean by tax credit?
I =1 gfeiee & w2

(b) Mention two factors responsible for low
level of taxable capacity in
underdeveloped countries.

SIS (PPTRS Y 39 a4 weR I SR
o B STErY 39 |

(c) Write a brief note on Goods and Services
Tax (GST),

ST SIS T F99 BT 5 (B fore |
(d} Define government budget.

SIPIRN AMCEH 5T oy |
3. Answer any three of the following questions :
5x3=15

TS Tl R et Ry epo o fora

(a) D.iscuss the recommendations of 14th
Finance Commission of India.
AR R LR 2 LS e S ——

8A/846

( Continued )



(3)

(b) PiSF:uss briefly the relative superiority of
Indirect taxes over direct taxes.

O FISLT A T4 SCRFe SeFhol b4a13

S{CTIoAT <B4 |

(c/) “Expenditure is a better index of ability to
pay than income.” Analyze.
OO I o WA S P 1
Remasm

(d) Distinguish between horizontal and
vertical fiscal imbalance. Write down one
purpose of tax sharing in fiscal
federalism.

AR HF TR AR SPHeR 5o A1ef
ST | TSBH IR JIES TN O[Ol
Ty ol | '

(e) Discuss about the benefit principle of
taxation.

799 SR NS REcq AT 47 |

4. Answer any three of the following questions :
10x3=30

. wers i { e Fof e Teq o
(a) Explain the various types of government

budget. Briefly discuss about the
economic classification of government

budget. 6+4=10
SR et Ri%A SeROE I T B
ACEHY Y AST AP RIea SRR A&

4 |

8A/846 ( Turn Over )



B |

(4 )

(b) Distinguish between progressive and
proportional taxes. Consider their
advantages and limitations. 6+4=10
TIEH  WE WA $W IS o2l
Crysa | Prey Ry s Mgaergz Rasa
<97 |

(¢) Classify impact, shifting and incidence of
tax. Explain the concept of forward and
backward shifting of tax. 6+4=10
I RS, WPRT HE Hofed AT 747 |

TN AN = PRI SPIRT 4RECET <7300
9 | ‘

(d} What do you understand by taxable
capacity? On what factors does it

depend? 4+6=10
SR I @2 3R TR et
[ESRRIGH:

(e) Discuss the ability to pay theory of tax.
What are its merits and demerits? 10

FF G ALY SO HAADT T | TR @9
R (TR %0

()’ What do you mean by fiscal policy?
Explain the role of fiscal policy in

developing countries. 2+8=10
| TN W foear B @ S e
| TECHRR M i e =4 |
* A K
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. ECONOMICS
( Major )
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Paper : 6-2
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

=]
[

Answer either in English or in Assamese

( APPLIED STATISTICS )

_ 1. Answer the following as directed : 1x7=7
weTo IRy e Sepiie Teq fiean
i (a) In general, Laspeyres’ price index
number is than Paasche’s price

index number.
( Fill in the blank )

AR, R W™ PIE " 1@
Wﬂiwﬁ |

( =& 3R *[T 1)

8A /847 ( Turn Over )



seasonal variations of & time serjeg

() within 2 month
PR IESAECAE

(i) within a week
@51 g feoTe

(i) within a year
b1 231 foo©

(iv) within a day
GOl i oo

( Choose the correct answer )

(o= TeCo! AR Sfenedr )

() What is hypothetical population?
orfare R & 2

(d) In a particular period, cost of living
index number is found to be 150 and
money wage of a worker is ¥ 9,000.
What will be the worker’s real wage at
that period?

e @1 FfME T G R I e
150 oF ¢ #eq J@ TgR € 9,000.
WC@WWWW?’??

8A/847
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" (3)

(e) If the origin in a trend line equation is

shifted forward by three years, X in the
equation Y = a+bX will be replaced by

& A AR SRR TEE A K 3

wieEz T =, Y=a+bX‘ﬂ§°Fﬁ°T\3Xﬁ?ﬁ

33
0 Ly
3

1x=om

3
(i) X+3
X+3<9°4
(i) X -3
X-39°4
(iv) None of the above
897 GoI8 A
( Choose the correct answer )

(@ﬁmaﬁ%ﬁi@)

() What does L, column of the life table

represent?
S SR L, TSI % PR ?
present both in

(9) Non-sampling errors are
1l as sample

census surveys as weE

Surveys.
( Write True or False )

i G LCIENECE ofend FwR 2eF R
@mmwﬁmﬁmﬁﬁml
(wm 3 orReR for )

8A /847 ( Turn Over )



of the following

9. Give short answers 4
. i !
questions |
S el
(a) Mention the components of a time
series.
N IR ICMIERENS CIERER
91

() What is meant by deseasonalization of

data of a time series?
FECAR ApEe SRS s oy g ¢
o ?

(cc What is the significance of Net
Reproduction Rate (NRR) =17

W% o5 29 (NRR)=13 O (% 2

(d) Index numbers are economic
barometers. Explain.

THFRF (2R TLASF BIPHE I | [0 F1

3. Answer any three from the following

questions : 5x3=15

wero Wi/ cren foibt ere T iy

(@) What is cost of living index number?
Mention its uses. 2.+3=5
& i 9

TERE 7 WR IRz
CCE 9 |
8A/847
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{160

(b) Write the advantages of sample survey
over complete enumeration. S

T RGeS e AR SR
fer o

(c/ From the chain base index (CBI)
numbers given below, find fixed base

index (FBI) numbers : 5
OO [ RIS PREHEE (CBI) o
f&afefe spers (FBI) Moy < -

Year ~ : 1975 1976 1977 1978 1979
Ei3

CBI ™%:""27807 110 T120790° F140

(d) Calculate trend values using 4 yearly-
moving average for the time series given

below :

@S Wl IEICHANCE [ 4 =W 518 9
AT FfR ToHfSTYRI 1+ ety 9 -

Year - 2008 2009 2010 2011 2012 2013 2014 2015 2016

%9
Production (kg)
Sestrra (fen)

506 620 1036 673 588 696 1116 738 663

8A /847 ( Turn QOver )



(6)

(e) Define : 3+1+1=5

el fort

(i) Population
afe

(i) Parameter
Ao

(i) Statistic

aifomfe

4

4. Answer any three from the following
questions : 3 10x3=30
oS 7l & e Fﬁﬁ 2R T fuy

(a) Explain the methods for measurement of
- fertility. 10

{29 PefT T ooy e w9 |
(b) Write short notes on any two from the
following : - Sx2=10
weTs il R (et o 5y et forwy -
(i) Life table
&l 1 =T e
(i) Wholesale price index number
RPN 71 5% 13y

(ii)) Gross reproduction rate

Bl g 2q

v

8A/847 ( Continued )



(7))

() (1) What precautions should be taken
to select the base period to construct
an index number? 4

PFRT oS a1 fofaqy e s
f & srRaerer Saerg Sfaq = 2

(i) Given the following data :

Commodity po q, _D:l ql
A 1 10 2 5
B 1 5 X 2

where Py 4, refer to base period price
and quanmty P, qlrefer to current
period price and quantlty Find X if the
ratio between Laspeyres’ (L) and
Paasche’s (P) index numbers is
L:P=28:+27. 6

oo i S o4

el p, q, P, q,
A 1 10 2 5
B 1 5 X 2

TS p,, q,2 fSfewia mm we «fRm; J
bﬁ@ﬂrﬁmwoﬁmﬁﬁ@lxaw
facy @ wf @wenr @) W oy (p)
HOPIKPq SIS L: P =28 : 27 7 |

PRTIIEI0003 63 97 23041
nis ;:lifd"rfig?‘{Ifﬁi;

8A /847 ( Turn Over )




(8)

(i) Fit a trend line to the following data
by the method of least squares : 6

wore figl ©AE o[ e o e
AR ToAfS e 79

1970 1971 1972 1973 1974

(@)

Year

(3%9)

Production : 18
(in 000 tons) :
EeA7 (*000 5©)

(i) Calculate the trend values.

o T T 0 |

(iii) Estimate the production in 1975.
1975 9 BeAWeR AR 467 31 |

21 23 27 26

2

(e) What is simple random sampling?
Mention two methods of selecting
random samples. Discuss the merits and

demerits of stratified random sampling.
1+#2+7=10

et IoRe AR 2 Agvze Afer o

TR 701 ST A TeEy 790 | BAgO AR
2fS5FT 4T S PP ST 1 |

() () Show that Fisher’s index number
satisfies both time reversal test and
factor reversal test. S

YA @ RORT PR T e
AF wF TR SegAd SR B
I |

f 8A/847
( Continued )




(9)

(i) Define vital events and vital

statistics, Compute age-specific
death rates for the age

groups given
below : 1+1+3=5
Age group No. of Deaths Population

0-10 25 1000
10-20 15 2000
20-30 <) 3000
3040 74 2500
40-50 18 500

(S T W (o “IReRA e o |
TSR3 I MBI (1 47[) A1 T-

12 o == fefRe 4 -
TP TR TR PR
0-10 25 1000
10-20 15 2000
20-30 5 2000
3040 R 2500
40-50 18 o060

8A/8477 | ( Turn Over )




(10 )

( ECONOMETRIC METHODS )

1. Answer the following as directed : 1x7<

oot fraTcaad o s Ted i

(@) What is a dummy varible?

oI Hore 2

(b) The equation of the exponential curve is
of the form Y =

(Fill in the blank |
TR (TR AN A0 ¥ = |
(4R Of R 41 )

(c) What is time series?

et 2

(d) ?f R? value is very high and most of the
independent variables are insignificant,
then what will be the problem?

W R® 3 AW o W Foq veRCaR wIeoH
I =, o2’ & st 51ff 27 2

8A/847
( Continued



(11 )

e) Wwhy there is type Il error problem in
multicollinearity?

T RIS AR 11 T T50m Rey 21z 9

(i  What is the role of the dummy variables
in a model of the form Y; =a+BD; +U,?

Yi =0+BD; +U, wifs «81F veq Sfiq

9 E
(99 In a time series, heteroscedasticity does
not occur.
( Write True or False )
e Raw Rofrer Teg 727 |
(wm 1 srRug for )
2. Answer the following questions : 2x4=8
Gore fEl ePIcas Teq fore

(@) What is seasonalisation of dummy
variable?

O berq e Jeteat 6 e T 2

(b) Draw a figure showing positive and
negative first-order autocorrelations.

91 g Sig R g9 TR TIHE ST
SREARY (N SF AME 1 701 T8l |

8A/847 s (Turn Over)



(12 )

(c) Mention two limitations of the method of
moving averages.

573 TG ARSI o1 TNl S |

(d) Name two problems that ar_ise in the
estimation of a linear regression model, |
when the assumptions of E(u;)? =3§2 i
and E(u; u;)=0 are violated.

i R =, awm Ew)? =52 e
E (u; u ;) = O STS4RA 61 1 51 =7 |

3. Answer any three of the following : 5x3=15
w1 folRbt epR Tes fore

(a) Explain briefly various reasons for the
problem of multicollinearity.

T ST TR R PR e 26
T 3

(b) Distinguish between AOV and ACOV
models,

PR Remd we SomepRe Rews wike
RIS SoRa s

8A /847 ( Continued)




(13 )

(¢ What is a dummy variable trap? How
can we overcome it?

BIR TR T A 7 TS oI 7 R
FRR AT ?

(d) Describe briefly the Koyck model.
Koyck SfZC0! J0F el 1 |

(e) Calculate three-year moving averages
for the following data -and comment on
the results : e [
oS i OUR A OR-IRAN ToR S Il
T AF TR 8TS Torme Al :

Year (I%9) ' : 2006 2007 2008 2009 2010
Production - i 2B 708925 24
(in 000 tonnes) s
&A= (*000 57S) _ -
Year (I%) i 2011 2012 2013 2014 2015
Production . 22 25 26 27 26
(in 000 tonnes)
&efre (000 579)
4. Answer any. three of the following : - 10x3=30
worq R (1o Tofbl o Tt 31 |
(a) Explain the methods of detecting the
multicollinearity problem in a linear
regression model. What are the
remedies for multicollinearity problem?
1 TR TR RS IR AT
S SRR TR F ARSI Sl
90 | T2 ASTF U RFER - Ta{ TN
foram
8A/847 ( Turn Over )



v 3 o
L -
e,

(14 )

(b) From the following information, test the
autocorrelation :

o fi] O o1 TR TR AIH 0

X-lg- L% 8 4.8 8 7
Y : 2 4 6 8 10 12 14

The tested model for the above
observation is Y; =1-2+0-6X;.

@Y TN AR AFEd SR 2
Y; =1-2+0-6X;.

() Why is the study of time series useful?
Discuss the various components of a
time series.

I S R R ? PR Rfvw
SARIIN A1 347 |

(d) Briefly discuss the importance of the
adaptive expectations model. What are

the problems faced in estimating the
model?

AN o WRBR @FY SRF e

901 @R SR RS TR @@ e
&9

(e) Explain the partial adjustment model.
RINRER IR RS Bl

8A/847 ( Continued )
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(15 )

() Explain the method of least squares in
measuring trend of a time serjes. How
can exponential trend be determined?

T o gRtA faew o omR

B 9 | )
R s TS A @FemE RefRe

* k%

e eI T T RSO | [ S (T T H R M B 3005 s s s e

8A—7000/847 3 (Sem-6) ECOM 2




3 (Sem-6) ECO M 3

2018

ECONOMICS
( Major )
Paper : 6.3

( Economics of Natural Resources and
Sustainable Development )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions '

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
woTs ) 2Pyeaee Ted fa

(a) What are biotic resources?
(& Som 52

(b) Can natural environment be included as
a natural resource?

Agfes R aRfes T SEeE
TR 2 -

() What is strong sustainability?
e gzl & 2

8A/848 ( Turn Over )
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(2 )

(d) Define ecosystem.

ARCPToT st i |

(e) Give two examples of renewable
resources.

AP ST 51 Syt fray |

() What is green GNP?
CT8E GNP (0 SO Seeme) & 2

(g) Define non-renewable resources.

AR TR g frg |

2. Answer the following questions : 2x4=8
©eTo {71 PTRe T fers
(@) What is user cost?

2T 7 2

(b) What do you mean by potential
resources?

T@Wwwm%{mﬁ

(c) Give the meaning of sustainable
accounting.

2y e S ford |

(d) Define inexhaustible resources. Give one
example of inexhaustible resources.

SRy oM S T | B 9O Swraee i

8A/848 ( Continued )



(3)

3. Answer any three of the following questions :
S5x3=15
R R e ffbt ey Taa w1 -

(@) Briefly state the concept of optimal rate
of harvest.

ST T H=IR 299 4411C01 KAy oL forai |

(b) Distinguish between material and energy
resources.

1Y S G o qer A1 rYdl |

(c) Write a brief note on Hotelling model of
resource depletion in competitive market.

ST IWqe F=oa Sewaq [aey mfe
{1 Hotelling 3 ToMeR RA@ 9B 55 G
foran |

(d) Briefly explain the concept of
development environment trade-off.

T AIfRCPY ALAISH 4RO BYLF 0T 7T |

(e) Write the concept of backstop resources.
BRI GRACOT o7 |

4. Answer the following questions : 10x3=30
oo T 2redrd Ted o1

(a) What are different types of natural
resources? Describe their characteristics.

arefe s fafen ez & 52 PrRes
cafBpTgR el P41 |

38A/848 ( Turn Over )



(b)

(c)

8A—7000/848

{ & )

Or/HE]

Elaborate the idea of sustainable yield of
renewable resources.

TP TAPTZS IZACN BRI AT
TR ferl |

Define sustainable development. Discuss
in detail the various indicators of

sustainable development.

Ty e el o | IeTEy S %o

TR GAMPTR, TZER ST 1 |
Or/3dl

What do you mean by ozone depletion?
Explain the causes behind this depletion.

s EeRd e IR & @2 Rewes &ien
FEPTR 91 1

What is global warming? Explam the
various consequences of global warming.

Graen  Twer 2 _cenaﬁﬂil Typor  f{few

AR T S
Or/ =¥l

How would you explain the phenomenon
that the renewable resources have
become scarce faster relative to the

exhaustible resources?

Gl T @ RS OTPNEE [
T TR e (2 TR, 9} FAmiR
wfy R aefer S0 2

* K Kk
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3 (Sem-6) ECO M 4

2018

ECONOMICS
( Major )

Paper : 6.4

( International Economics )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=T
e fraRd ot sk et 74

(a) Define international economics.

TrEEifee SRS s fa |

(b) What is balance of payments?
qfdf&re cerer Ty 2

8A/849 ( Turn Over )
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(d)

(e)

8A/849

(2)

quota is the non-monetary

Import : |
1 recting adverse balance

measure of cor

ayments.
o (Write True or False)

Wﬁmmﬂwmw

(fSRY 9ol W{T&TW "I |
(3761 ¢ = fer=)

Give the meaning of exchange rate.
fafery 799 o ford |

Give an example of invisible exports.

P I b1 Sz R |

Present member countries of IMF
1S

(184, 189, 181)

(Choose the correct one to
fill in the blank)

m”'WW’{WWﬂo\W

|

(Sv8, S¥y, Sud)

( Continued )



(3)

(g9 Mention one feature of economic
integration.
TGS ARfoT o1 T8I T 1 |
2. Answer the following questions : 2x4=8

oo M oPIR Teg 41

(a)

(b)

(c)

8A/849

State any two contents of international
economics.

wEEifes wHifes sEye R @ o {9
T 90 |

State any two causes of disequilibrium
in balance of payments.

AT G Tged S (AR Yo
PR Sy F41

Define clearly the meaning of foreign
exchange market.

et R IR 5 BT o |

( Turn Over )




=

¢ - )

(<} State any two functions of the World
Trade Organization.

=y <ifasy =ixzm= B et 301 =19 S 41 )

2. Answer any three of the following guestions :
5x<3=15

S=s BT o= @ et BRtE Tew 91 -

=9, Why is intermational economics treated
s =a distinct branch of economics?

Explain.

e T wmfes SA@s=y {FR ~m=n Fees
S sre7 =91 =¥ 7 WIOT 911

(B) What are the differences between
balance of payments and balance of
trade?
fafeas cGicaaS Oge W= Jliasy Tged IS
“refFrg= = = 2

(c) Distinguish between spot and forward
exchange rate.

ZIHE W HEay [{AfE=Ey ==9 I on<sy [
49T |

8A/ 849 ( Continued )



(d)

()

( 5)

Write a note on trade creatjop,

mﬁﬁfﬁf@?ﬁmqﬁmm|

Briefly state how India is related to
International Monetary Fund.

TR AT Clte SRed g wfve
(2 SR, BT T 391 |

4. Answer the following questions : 10x3=30
woo Al 2R Teg 91 ¢

(@)

8A/849

Explain the nature and scope of

international economics. 10

HEEoF SLAIfe] 23S S AR I 1 |
Or / 941

Explain the structure of balance of
payments accounts in case of India

with a suitable table.

te  ofen  TgEe  SRewd T
TS S oo < T

10

( Turn over)



(6)

(b) What is disequilibrium in balance
of payments? How can balance of
payments disequilibrium be corrected

through devaluation? 2+8=10

R . B i o B

Or / =74l

Define the rate of exchange. How is
the equilibrium rate of exchange
determined? 2+8=10

fafrm 7 A o s [ =9
femca Fid@a a1 29 7

() What is customs union? Discuss its
relevance to developing countries. 2+8=10

wiE &7 TEeEE orR orae TR
Ardform) =ama 41 |

8A/849
( Continued )




(7))

Or / 9l

Explain the objectives and functions of

International Bank for Reconstruction

and Development. 5+5=10

ol WF TR Eefes  (IRFI
S S FROTR IR0

* X *
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ECONOMICS
( Major )

Paper : 6.5

( History of Economic Thought—II )

Full Marks : 60

Time : 3 hours .

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : C1x7=7
wete fraPTyEa et Sepifs e fordt -

() Who is the Father of Welfare
Economics? :

TR Aol Pre @M ?

(b)) Name two economists of marginalist
school.

ORI SRYRN & SAofRwa w1 for |

() Who was the main exponent of general |
equilibrium?

TR SRR A4 SR (T ST 2

8A /850 ( Turn Over )



(2)

(d) Who was known as ‘the Great Old
Man of India’?
“The Great Old Man of India’ Il F%

Gl I ?

(e) Who was the propounder of the Theory
of Imputation?
IR ©ed TBRE (@ SR 2

(f) can be regarded as the first book
on the Indian Political Economy.
(Fill in the blank)

T S[Hed qEAST SLqied ¥ A7
Bo1ee 9l [T A |
(& 31 +[F F40)

(g9 Who was the main contributor of
neoclassical economics?

TPEPe wLAfeT I3 SRRl
wfRe 2

. 2. Answer the following questions : 2x4=8
f weTs il PIAIR] T fers

(a) What is Leontief’s paradox?

formfowg Si1e] 2

(b) Why is Fisherian index number known
73 as ideal index number?
f feora e sk B sl spe i~ {6
CPId1 23 ?

8A/850 ( Continued )



( 3)

(c) What is Pigou’s dual criterion?

a3 tae MecsT f o

(d) Explain Wicksell effect.
CRFCo Af e T 4 |

3. Answer any three of the following questions :

T oAl T R o R S B e

(a) Discuss Marshallian concept of quasi-
rent.

CKETI 71 MG Q=T <0 1 |
(b) In what ways wealth of India was being

drained?
SRGHT {1 oA ol (Feea (2f=e1 ?
(c) Explain alternative cost theory of
Wieser.
SR s I oGl T T |

(d) What measures did Ranade suggest to
eradicate poverty from India?

SReq TREel [RFIR A IHeeE & =
HREIRIRE ?
(e) Explain Gandhian concept of village

autonomy.
ST 2 TG {RATCET I 1 |

4. Answer the following questions : 10x3=30

et fRa 2piCad BT oA :
(a) Discuss the Jevons’ theory of capital

and interest.
CorSeT5d ere ST 9% ST I

8A/850 ( Turn Over )



(4)

Or /¥R41

What are the contributions of Marshall
in the history of economic thought?

wtafes BeEE oo TeEea [P
& & wnfeeE 2

(b) Discuss the theory of Pareto optimality.
What are the limitations of Paretian
theory of welfare?

AT AT IR OGOl 0T 7 |
CPRACHH Femiregd Suaaerz & & ?
| Or /9241

Do you think Keynesian ideas are
applicable to underdeveloped economy?
Give reasons to your answer.

T (RIPHE. S SYANSS S 2
- (oA TeTT eieE I e | ‘

(c) Discuss the relevance of Gandhian
economics in modern India.

ST SRee AN wLEfeT  ArRfERee
HICEATGH] 91 |
Or /S%41

In what ways Gokhale wanted to curb
the Public Expenditure of India?

@HREAE A TR A_ (NG OReY 5K
ST SRR R EE GRS IR EC R,

* % %
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2018

ECONOMICS
( Major )
Paper : 6.6

Full Marks : 60

Time : 3 hours |

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
wore fAa PR e o : |

(a) Define economic planning.

GAfST oAfFsm e fran |

8A/851 ( Turn Over)



p

(b)

(c)

(d)

(€)

(9)

8A/851

(2)

Which plan accepted the strategy of

inclusive growth’ for the first time?

@ ARTEAC JYWRI I WS S’
PP 2= 1 (3RS 2

What was the targeted growth rate of
India’s Twelfth Five-Year Plan?

TSR] a7 AT IRFEAe THEE T[T
o9 e 9 91 C2fRe 2

What do you mean by globalization?
coTeIRad 3ferca o @ 2 |

What is the full form of OECD?
OECD 3 4 9°1C61 {$ 2

What is meant by depeﬁdency burden?

fréeMeer @ e @ ?

What is the literacy rate of Assam as
per 2011 Census?

2011 59 G TS PR A r$Iod 39
&9

( Continued )



(3)

2. Answer the following questions : 2x4=8

wofe Rl oRTRa T for -

(a) Mention two important causes of low

death rate in Assam.

SR N 91 2T 01 24T e Ay 90 |

() What is decentralized planning?

Reedipe e 2

() State the meaning of shifting

cultivation. -

TrERe I mafoq wy for |

(d) Mention any two needs of economic

planning in India.

SRS FAARE ARTHAR o ACASATS!
TeEy 0

8A/851 ' ( Turn Over )



(4)

3. Answer any three of the following questions :

5x3=15
were Wl PR R el fefeier Tad fefar
(@) Explain the basic objectives of economic
planning.
ST ARTHAR 1 TTEPRR WM 1 |

(b) Distinguish between Foreign Direct
Investment and Foreign Institutional

Investment.

oo (e RAEE S SRIe (i
fafftcem =nefes fe |

(c) | Briefly discuss the composition of

foreign trade in India.

SO RS A A TE TS

ICAOAT ST |

(d) Discuss the impacts of globalization in

Indian economy.

SROHT  wifee  CIERIFIN SRR
GG 91 |

8A/851 | ( Continued )



(5)

le) Give a comparative picture of the trend
of the growth rate of GDP i India and
Northeastern States.

SROR WF TSI-“fiwe T@pE 45 v
T ST A AR @fs T
wfS &7 |

() Write the disadvantages of shifting

cultivation.

TS $R SP{fRapmE o |

4. Answer the following questions : 10x3=30
©oTS R PR B ford

(@) Give an idea of the change in the
strategies and goals of Five-Year Plans
in the post-Liberalization period in
India. 10

THRITIR 2GS SCRA® SR G AoF

TRFTAR (e oF THR “RIER @S g/
faa |

Or / 241

Do you think that India’s Five-Year
Plans are able to achieve the targets?
Give reasons for your answer. 10

8A/851

m

( Turn Quer )



(b)

(c)

8A/851

(6)

SReq AT AR M e
Tie 2'9 ke 3R B SR ? @R Tevg
SCF P9 T |

Discuss the trend of India’s foreign
trade before and after Liberalization. 10

CARF =4 OIF *RI! 4 ST (AR
RIRCIERIS ERETe S i el

Or / 2171

Mention the importance of Foreign
Direct Investment in India. Give an idea
of the growth of FDI inflows in India.

5+5=10

Wm@%ﬁﬁmm@ww

| SRR FAerE (i Rftse AEIEY]
s @i qmen fi |

In  what respect the economic
characteristics of North-East region is

different than that of the Indian
economy? Discuss. 10

( Continued )



(7))

Or / 9241

Analyze the factors affecting industrial
development of North-East India.
Suggest the measures for the progress
of industrialization in the region. 6+4=10

TeI-o[{leeR ST TmEe geR (oA
TAMPTR RO 911 @ SR Sonhie
RIS AN R S9RCGRT |

* % %
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2018

ECONOMICS
( General )
Paper : 6.1

( International Economics )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks -
for the questions '

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
oo AR et S e fra

(a¢) What is meant by international trade?

o ey e & @2

(b) Define balance of trade.
A& Ao iKe fi |

(c) What is terms of trade?

ey 5% S 2

8A[TT2 ( Turn Over )



( 2 )

(d) What is net barter terms of trade?

% R ifdes 56 & 2

(e) Write True or False :

% (7 S9m o

Ricardian theory of international trade is
based on complete specialization.

ﬁ@@ﬁa@ﬁ%@aﬁmwﬁﬂ“ﬁﬁ?@ﬁﬁ
@@ AfSHT |

() Mention one visible item of balance of

payments account. _
cagifie CeCTE e R oft prE RS
TrEy 91

(9) High growth rate of population is the

main cause of deficit/surplus
disequilibrium in balance of payments
in India.

( Choose the correct one )

A IR B S
@R I /AR SRTRASR ST PR |
( ehT qifR Sfered )

( Continued )

e
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(3)

(h) What is the full form of IBRD?
IBRD 3 3% 77{¢bl 4 7

() What is fixed exchange rate?

foq ffm =R 14 2

() What is meant by devaluation?

g & 3@ ?

2. Answer the following questions : 2x5=10
were T apprgRd e fi

(a) What is the nature of international
economics?

Eifes SLANed 23S Tl ?

(h) What are the two main components of
balance of payments account of a
country?

99 (PR (ARSI Mo fRo1P 30
Tomm ol & 2

(¢) When does a disequilibrium in balance of
payments occur?

A CTeCTT SRR (fSul Tea 2 2

8A7T72 ( Turn Over )
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(4)

(d) Mention any two factors affecting terms
of trade.

NI 56 eI TR @0 7B I Temy
9 |

(e) Why is a separate theory needed for
international trade?

SBESF VST AN Ry 435 ©Gq Aeqrem 2

3. Answer any four of the following questions :
5x4=20

oefo 7l erReEs R i wifReR Seg fra

(a) Why is international economics called a
distinct branch of economics?

SEsifor Ao 57 w@ifes «ft oo ==
2o1cet aion <41 27 2

(b) What are the assumptions of Ricardian
theory of international trade?

e TEEies ey ogq  SSYRIPER
&2

(c) Explain briefly any two types of terms of
trade.

R I 72 oA e v6d ey oy fors |

8A/772 ( Continued )



(d)

(5)

Explain the concept
payments.

of balance of

(RTAPR (FTCTA STHOR 4RI < 1 |

(e)

What are the objectives of IBRD?
IBRD 3 TwPigz f$ £ 9

What does comparative cost difference
mean?

YA T8 AR R a2

4. Answer the following questions : 10x4=40
oS a1 epRe Ses foa

(@)

LAVL

Explain the scope of international
economics. 10

e SAifes 4R 36 41 |
Or / 941

Discuss the gains from international
trade,

Higeifios qiferera areonyz | 4 |

( Turn Over )



(b)

(c)

8A/772

(6 )

Briefly explain the objective and
functions of IMF.

IMF 3 7% S el G0 10 41 |
Or / 9=AI

Explain how foreign exchange rate is
determined in a perfectly competitive
market.

of-fSan IEEe IR [ 279 @IS
e s =9, I 9

Discuss various causes of disequilibrium
in balance of payments.

@ERE @ SETREeR Rfen FRPR
ST P4 |

Or / 41

Write down various measures of
correcting disequilibrium in balance of

payments.
R EMOE SRRl Sifeq o1 [Ifed
AEPIYR o |

10

10

( Continued )



b, v AR
AN
.\n}\’,\;;ﬁ

a3
Y

(7))

(d) Discuss the functions of IBRD. 10 1
IBRD ¥ FHEE! SICaADAT 41 | |

Or / HHl

Explain the current and capital accounts
of balance of payments account of a

country.
G4 (R e GRS SO o
Sfere e e ot e 36 P9 |

* % %k
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2018

ECONOMICS
( General )
Paper : 6.2

( Planning and Development in India )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
weTo a1 enpTRe Bed f

(a) What is decentralized planning?

fReeaigs s 9

(b) Write the full form of FDI.
FDI 3 #j¢f Sefehl fora |

(c) Give the meaning  of
planning.

SNToEF “IReEe S fagy |

democratic

BAJTT3 ( Turn Over )
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(2)

as the tenure of Twelfth
f India completed?

‘*IWWWET

(d In which year W
Five-Year Plan 0
@A S SReq A

oy C2fRe ?

(¢e) Mention one reas
of Indian econom

period.

sAfes AT Wﬁ SRed HYASP
ST 29 T2 @A 961 IR Sy |

() What is the main objective of Import
Substitution Policy of India?

Sreq SR Res AT 331 Soe 2

In which year was the NITI Aayog of India

formed?
SReq NITI Sca! e 5o o107 1 (2= 2

on for slow growth rate
y during the planning

(9)

(h) Write one important feature of India’s
Economic Globalization Policy.

SREq AR (IR AMeq @bl wFgef
¢afigy feran |

T Rt

(i) Mention one important failure of Indian
economic planning.

SHOY SiAST  ARTHTR @bl Ay el
Sea 41 |

8A/773
| ( Continued )



(PR A S R

(3 )

() Define the concept of developing

economy.

e SeAeR qReeE e |

2. Answer the following questions : 2x5=10

o 7] ePTRR Te fi

(a) Mention two strategies  of Indian
economic planning.

SR AT ARTHAR o1 (PP SeEd 4 |
(b) What is poverty line?
vfRger SR € 2

(c) State two major obstacles for proper
implementation of decentralized planning

in Assam. - _
e REEge ARFEAR T RN o 3
oifoqmPol TEy 90

(d) Write two short-term objectives of Indian
economic planning.

SRS AT ARTEAR oI ZFFAA ST
for41 |

(e) How is ‘Act East Policy’ different from
‘Look-East Policy’?

‘opatet 1 B M’ P ‘opqtel (ORI S’
ANS UG ?

8A/773 ( Turn Over )



(4)

3. Answer any four of the following questions :
5x4=20

were g1 e R @ wifRorR T i

(a) Write the full form of NEC. Mention four
important functions of NEC.

NECF ¢ o[ 21 | NEC 7 o101 @wef
I TeEy 90

(b) Is there any necessity of economic
planning in the context of economic
globalization? Give your own arguments.

AT (TR Ao wtafee
ARFEN  ATEATO! - R ? (ONF Teqq

Sefete e e faan |

(c) Mention five indicators of economic
backwardness.
GLAST SO OR #1601 T SCaAY I |

(d) Explain the concept of ‘economic self-
sufficiency’ in the context of India’s
economic planning.

OS] HWAST ARTEIR e e i)
GRS SASINeTO’ GREACET 10 41 |

(e) Describe the current government
strategy of poverty alleviation.

TRES! BT TR HIFRA FOS (T e

CFPEPTR 39T 9547 |

SAITTS ( Continued )




